Calcular Porcientos (B)

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 2.156 € es
1.617 €7

- ¢Qué porciento de 2.920 € es
584 €?

. ¢Qué porciento de 9.730 € es
973 €?

- ¢Qué porciento de 9.740 € es
487 €7

. ¢Qué porciento de 5.360 € es
268 €7

10.

;Qué porciento de 9.309 € es
3.103 €7

;Qué porciento de 9.200 € es
1.380 €7

;Qué porciento de 7.504 € es
1.876 €7

;Qué porciento de 5.300 € es
265 €?

;Qué porciento de 600 € es 90
€7
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Calcular Porcientos (B) Respuestas

Calcule el porciento o valor que se pide.

- ¢Qué porciento de 2.156 € es
1.617 €7
75%

- ¢Qué porciento de 2.920 € es
584 €?
20%

. ¢Qué porciento de 9.730 € es
973 €?
10%

- ¢Qué porciento de 9.740 € es
487 €7
5%

. ¢Qué porciento de 5.360 € es
268 €7
5%

10.

;Qué porciento de 9.309 € es
3.103 €7
33%3%

;Qué porciento de 9.200 € es
1.380 €7
15%

;Qué porciento de 7.504 € es
1.876 €7
25%

;Qué porciento de 5.300 € es
265 €7?
5%

;Qué porciento de 600 € es 90
€7
15%
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